Virgo Fidelis Senior School					Maths Basic Skills 						Year 9 Summer Holiday Work 1
Name ___________________________                     Date______________________________                  Class_____________________________

	Section A:Numbers & calculating
	Section B: Algebra & shape, space & measures
	Section C: Using and applying

	

1. Which is bigger:  or 
	
	11.  If x = 3, calculate the value of:                  
         x3 - x2
	
	21. 
Work out the area of a parallelogram with a base of 9cm and a height of 10cm 
	

	

2. Which is bigger: 45% or ?
	
	12.  If x = -3, calculate the value of:       
         x3 - x2
	
	
	

	3.  Increase 48m  by 20 %
	
	14.  Solve: 3(x - 1) = 6
	
	22. Four of the angles of a pentagon add up to 4600. What is the size of the fifth one?
	

	4.  Decrease 680 by  25%
	
	
14.  Solve: = 4
	
	
	

	5.  A TV has height:width in ratio 3:4. In a scale drawing the width is 10cm. What would the height be?
	
	15.  Find the nth term of this sequence   
            -2    3    8   13   18 ...
	
	23.
Work out the area of a triangle with a height of 5.6cm and a base length of 3cm
	

	6.  A  & B share the cost in a ratio of 3:2.  A pays £125, how much does B pay?
	
	16.  If T(n) = 1 – 3n, what is the 3rd  
        term?
	
	
	

	7.  The exchange rate is: £1 = €1.12
     How many £ would I get for €336
	
	17.  If y = 2x + 5, find the value of y 
        when x = -4
	
	24.
If the probability of a pupil being absent is 0.17, what is the probability that the pupil is present?
	

	8.  1kg = 2.2pounds. How many kg in 22pounds?
	
	18.  Where does the graph of y =3x + 5 is cut the y-axis?
	
	
	

	

9.  Work out:   -  
	
	                   Use π = 3
19.  Calculate the area of a circle with  
        radius  of  4cm
	
	25.
Work out the volume  of a cuboid 7cm by 3cm by 10cm?
	

	

10.  Work out:   ÷  
	
	                     Use π = 3
20.  Calculate the length of the   
        circumference of a circle with 
        diameter  of  3.3m
	
	
	

	Total (A)
	
	Total (B)
	
	Total (C)
	

	Test Total (A+B+C)
	
	R (0-9)
	Y (10-19)
	G (20-25)
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	1. To increase an amount by 12.5%, what 
     single multiplier would you use?
	
	11.  Expand & simplify:
(x + 4 )2
	
	21.                     8cm
            
         3cm                                                 x                                           
                                12cm
To find ‘x’ choose one calculation:
√42 + 32     OR    √122 + 32   OR   √82 + 32     
	

	[image: http://www.firstaidwarehouse.co.uk/pic/280x280/11/11/seca_491_bmi_calculator_1111.jpg]
1.  Decrease 800g  by 62%
	
	
12.  Solve:  4x  + 1 > 5
	
	
	

	3.  Without a calculator work out:
0.4 x 0.2
	
	13.  Make a the subject of the formula:
P= 2a  - b
	
	22. 320 is rounded to the nearest ten.
Write down the minimum possible length it could have been.
	

	4.  Estimate the answer to:
233 x 52
	
	14.  Write down the next term in this sequence:    2    5    10    17   26    ...
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5. Use a calculator to work out: (2dp)
√555 ÷ 1.124
	
	15.  If y = x3  - x , 
find the value of y when x = 2
	
	 23. The relative frequency that the traffic lights will show RED at road works  is 0.2. Estimate how many times they would be RED over the next 40 journeys?
	

	6. Write 0. 189 as a fraction

	
	16.  Factorise:    x2 + x - 12
	
	
	

	7.  Work out the balance for £240 invested for 3 years at 6% per annum
	
	17.  Multiply & simplify: (3a - 5)2
	
	24. Max rolls 2 dice
P(the total is 12) =  0.03
P(the total is 10) = 0.08
What is the probability that Max rolls 2 dice and gets totals of 12 or 10?
	

	[image: http://www.firstaidwarehouse.co.uk/pic/280x280/11/11/seca_491_bmi_calculator_1111.jpg]
8. In a ‘80% off’ sale, an oven was £112.
    Work out the original price.
	
	18.  Make r the subject of the formula:
                  v = 4πr2h
	
	
	

	9.  Write 3.125x  103 as an ordinary    
      number
	
	19.  d=√a2 + b2 + 2ab   Find d when  a = 4
                                                             & b = 7
	
	25. What inequality is represented here?
	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	



                            4
                            3
                            2
                            1

                                      0    1    2     3    4
	

	
10. Work out (6.2x105 ) -  (3.7 x 104)
       Give your answer in standard form
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20.  If sin 180 =    23  ,  find x (3sf)
                               x
	
	
	

	Total (A)
	
	Total (B)
	
	Total (C)
	

	Test Total (A+B+C)
	
	R (0-9)
	Y (10-19)
	G (20-25)
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